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3D Trigonometry

MCR 3U
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Example 2

A surveyor is on one side of a river. On the other side
is a cliff of unknown height that she wants to
measure. The surveyor lays out a baseline AB of
length 150m. From point A, she selects point C at the
base of the cliff and measures <CAB to be 51. She
selects point D on top of the cliff directly above C and
measures an angle of elevation of 32: She moves to
oint B and measures <CBA as 62. Find the height of
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Example 2 con’t...
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Example 3

+ Kelly and Jake are standing 50m apart in front of the Peace Tower on Parliament Hill in Ottawa. The angle of
elevation from Kelly to the top of the tower is 43 degrees. Kelly measures the angle between Jake and the
base of the tower to be 60 degrees, while Jake measures the angle between Kelly and the base of the tower
to be 82 degrees. Calculate the height of the Peace Tower, to the nearest metre.
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Example 3 con’t...
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Homework

* Section 4.5, Page 265-266, #1,5,7
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